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The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level 
English Language, and to show how different levels of candidates’ performance (high, middle and low) relate to the 
syllabus requirements. This document helps teachers to assess the standards required to achieve marks beyond the 
guidance of the mark scheme.

In this booklet, candidate responses have been chosen from the June 2024 exam series to exemplify a range of 
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or 
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes 
and guidance for candidates for each question.

Please refer to the June 2024 Examiner Report for further details and guidance.

The questions and mark schemes are available on the School Support Hub

Introduction

Past exam resources and other teaching and learning resources are available on the School Support Hub

9093 June 2024 Question Paper 31

9093 June 2024 Mark Scheme 31

http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support


Example Candidate Responses – Paper 3

5

How the candidate could improve their answer
•	 The response was sustained and written using low-frequency lexis and mostly accurate linguistic terminology. 

However, most of the response focussed on linguistic concepts and theoretical approaches rather than on the 
data in the stimulus material. This meant that although the candidate’s expression was sophisticated at times, 
the response overall was discursive rather than analytical. The answer could have been improved with a wider 
selection of data for analysis.

       The candidate makes an 
accurate reference to Johnson’s 
dictionary and, briefly, to 
standardisation to introduce 
‘inconsistencies’ which had been 
identified.

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for 
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner 
comments.

Example Candidate Response – high Examiner comments

1 1

Common mistakes and guidance for candidates
•	 Such attempts as made by this candidate to translate items from an early text into contemporary English can take 

up a considerable amount of time and are not necessary. Misinterpretations are often made when this approach 
is taken. Candidates are advised to take a more analytical approach to a wider range of the data presented in the 
stimulus material.

•	 Where a candidate describes the texts in generalised terms, rather than using technical terminology, or uses 
technical terminology inaccurately, this detracts from the analysis because the linguistic standpoint is either 
minimised or not present.

Examiner comments explain 
where and why marks were 

awarded. These help to interpret 
the standard of Cambridge  

exams to help learners  
refine their exam technique.

Responses are written by real candidates in 
exam conditions, demonstrating the types of answers 

for each level. These could be used to discuss and 
analyse the answers with learners in the classroom to 

improve their skills.

This section explains how the candidate 
could improve each response. It helps learners to 

improve their exam technique.

This section lists common mistakes as well 
as helpful guidance from the examiner. This will 
help your learners to avoid these mistakes. You 
can use this alongside the relevant Examiner 

Report to guide your learners.
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Question 1

Example Candidate Response – high Examiner comments

       The candidate makes an 
accurate reference to Johnson’s 
dictionary and, briefly, to 
standardisation to introduce 
‘inconsistencies’ which had been 
identified.

       The ‘inconsistencies’ are 
not entirely plausible and the 
candidate makes an error in finding 
a contemporary equivalent of ‘linen 
draper’. However, they deliver 
their argument  clearly and in a 
developed manner.

       The reference to Halliday 
is correct and the explanation is 
tied to the point in the preceding 
paragraph.

1

2

3

1

2

3
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Example Candidate Response – high, continued Examiner comments

       The candidate’s expectation of 
paragraphing in Text A indicates a 
misunderstanding of the form of the 
text.

       The candidate’s commentary 
on sentence length supplies brief 
evidence from the text and is 
supported by Crystal’s notions of 
language change, with particular 
reference to technology. The 
explanation of Crystal is much more 
involved than the explanation of the 
sentences in Text A, however.

       Although a full quote from Text 
A is not given, the candidate creates 
cohesion between Texts A and B 
in their comments on ‘figure’ and 
‘pattern’.

5

6

4
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Example Candidate Response – high, continued Examiner comments

       The candidate applies a 
theoretical reference from de 
Saussure with some precision to 
their argument on semantic shift. 
The process of amelioration would 
be more accurately described as 
broadening, however. There is no 
further discussion of any elements 
of Text B.

       The response moves to 
consideration of Text C and 
explores the use of hyphenation 
plus the appearance of the  
Long S in Texts A and C. 
Development is mostly effective, 
although it is weakened by the 
generalised comment, ‘Research 
has shown . . .’.

7

8

7

8
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Example Candidate Response – high, continued Examiner comments

       The candidate provides another 
complete and plausible conceptual 
reference to Hockett and random 
fluctuation. This section of the 
response also introduces Caxton to 
develop the argument.

       With some loss of tone, the 
candidate discusses archaic 
graphemes (‘the curly t’). They take 
the opportunity to discuss borrowing 
from classical Greek and Latin. This 
discussion develops with reference 
to cultural transmission according to 
Hartl and Clark.

       Despite effective expression 
and detailed reference to the 
candidate’s wider study of language 
change, there is only minimal 
inclusion of commentary on the 
stimulus material.

Total mark awarded =
17 out of 25

11

10

9

11

10

9
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How the candidate could improve their answer
•	 The response was sustained and written using low-frequency lexis and mostly accurate linguistic terminology. 

However, most of the response focussed on linguistic concepts and theoretical approaches rather than on the 
data in the stimulus material. This meant that although the candidate’s expression was sophisticated at times, 
the response overall was discursive rather than analytical. The answer could have been improved with a wider 
selection of data for analysis.

•	 Although cohesion was attempted by examining limited data from Text A alongside Text B, and then Text A 
alongside Text C, comments were brief and used to demonstrate the candidate’s knowledge and understanding of 
linguistic theory. In Question 1, AO5 is weighted at 15 marks out of 25, therefore, demonstration of analytical skills 
in data handling are extremely important.

•	 Although the response was written with fluency, there was some loss of tone towards the end of the analysis. The 
response would have been improved by a consistent register. Further improvement would have been made with 
fewer inconsistencies in applying technical terminology and had all conceptual references remained accurate and 
precise.
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Example Candidate Response – middle Examiner comments

       The candidate correctly 
positions Text A at a point on the 
timeline of evolution of the English 
language. There is an undeveloped 
comment on the expected level of 
formality which is not support by 
evidence from the text.

       There is some inaccuracy and 
imprecision of linguistic terminology.

       The candidate selects and 
contrasts the graphological feature 
of capitalisation with contemporary 
English use, although there is some 
inaccurate discussion.

       The discussion of the 
grapheme Medial (or Long) 
is generalised. However, the 
candidate selects data to support 
claims.

1

2

3

4

1
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Example Candidate Response – middle, continued Examiner comments

       The concept of standardisation 
is only minimally introduced, 
although there is much further 
discussion to follow.

       The candidate brings some 
cohesion to the response by 
introducing Text C for comparison 
to use of the Medial S as seen in 
Text A.

       There is relevant and mostly 
accurate reference to Halliday, 
which includes a more developed 
discussion of the process of 
standardisation.

       The candidate’s reference to 
cultural transmission is incomplete 
and not wholly accurate or relevant.

5

6

7

8

5

6

7

8



Example Candidate Responses – Paper 3

13

Example Candidate Response – middle, continued Examiner comments

       The candidate’s generalisation 
in ‘there is a lot of punctuation’ 
detracts from the control of 
expression.

       The inclusion of the verb 
‘catched’ from Text A is described 
imprecisely as a ‘virtuous error’. 
The ensuing commentary returns 
to the concept of standardisation, 
which, by this point in the response, 
is forming repetitious material.

99

10 10
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Example Candidate Response – middle, continued Examiner comments

       Exploration of Text B supplies 
mostly meaningful analysis with 
reference to broadening and a 
direct comparison of the way the 
items in the table demonstrate 
change over time.

       Overall, the candidate 
demonstrates clear expression. 
Despite some spelling errors, 
there is a reasonable level of 
development of some ideas, 
although repetition is evident at 
times.

Total mark awarded =
11 out of 25

12

11

12

11
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How the candidate could improve their answer
•	 To address AO2 more effectively, more attention could have been given to precision in spelling of linguistic 

terminology, for example as seen in ‘ortography’.
•	 More care could have been taken to ensure that the response did not become repetitive. This was particularly 

pertinent with the candidate’s commentary on the concept of standardisation used on most points raised. Any 
repetition detracts from the overall relevance, as well as from the impression of the extent to which the candidate 
has employed writing skills and techniques.

•	 Although each of the three texts were analysed to an extent, the response could have been improved with a 
greater selection of data being made from Text A. If the candidate had not focused so heavily on the concept of 
standardisation, there would have remained time to provide more analytical findings extracted from the stimulus 
material.

•	 The conceptual reference to Halliday was secure, however, reference to cultural transmission was not. The 
candidate needed to ensure that the theories they cited were directly relevant to the discussion. The term 
‘virtuous error’ was possibly used in an attempt to introduce more technical terminology; however, it was used 
inappropriately and would have been better applied to data seen in Question 2.
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Example Candidate Response – low Examiner comments

       The introduction succinct and 
expression is clear. The candidate 
gives an overview of Text A, but 
Texts B and C are not mentioned. 

       The candidate uses the term 
‘archaic’ where the term ‘obsolete’ 
would be more accurate. However, 
an appropriate selection from the 
text is made to demonstrate the 
point.

       The candidate’s attempt to 
translate the selected example 
into contemporary English is 
unnecessary.

       The candidate appropriately 
selects data from Text C and 
interprets the graph, though in 
generalised terms.

       The comments on punctuation 
are somewhat repetitious. 
Moreover, the candidate focuses  
on what is only a minor feature of 
Text A.

5

1

2
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Example Candidate Response – low, continued Examiner comments

       In an attempt to develop 
comments on the concept of 
informalisation, the candidate 
discusses features which are 
not present in Text A, therefore 
irrelevant material is offered.

       The candidate introduces Text 
B, but it is explored in general terms 
constituting explanation rather than 
analysis.

       The candidate provides a 
weak and generalised conclusion. 
Overall, the response is brief.

Total mark awarded =
6 out of 25

6

7

8
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How the candidate could improve their answer
•	 The response was a little short and could have included a selection of a wider range of data for analysis.
•	 Although expression was clear, terms were generalised rather than technical. To improve the response, a range of 

linguistic terminology could have been used.
•	 There was some repetition of comments, which weakened the analysis; candidates should take care to ensure that 

their writing is succinct and focused. This will maximise examination time, enabling a more thorough analysis of 
any remaining points.

•	 There was only one reference to the candidate’s wider study of language change, despite 5 marks being available 
for AO4. To improve the response, the candidate could have introduced more theoretical examples.

Common mistakes and guidance for candidates
•	 Such attempts as made by this candidate to translate items from an early text into contemporary English can take 

up a considerable amount of time and are not necessary. Misinterpretations are often made when this approach 
is taken. Candidates are advised to take a more analytical approach to a wider range of the data presented in the 
stimulus material.

•	 Where a candidate describes the texts in generalised terms, rather than using technical terminology, or uses 
technical terminology inaccurately, this detracts from the analysis because the linguistic standpoint is either 
minimised or not present.

•	 A common mistake is to address Texts B and C by summarising the content of these texts. A deeper reading of the 
data presented would enhance responses by demonstrating understanding of more meaningful data.

•	 Comparison of features selected from Text A to corresponding features from Texts B and C provides cohesion to 
the overall response. Analysis of Texts A, B and C separately in the order in which they appear in the question 
paper does not allow for optimal synthesis. Furthermore, leaving analysis of Texts B and C until the very end of the 
response might lead to absence of full analysis due to time constraints.

•	 A more effective approach is to organise a response into a sequence of paragraphs which move through a series 
of linguistic frameworks. Frameworks might include graphology, lexis, grammar, orthography or etymology. This 
approach is not a requirement, although responses which use this structure demonstrate clarity of writing technique 
and control over analytical skills.
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Question 2

Example Candidate Response – high Examiner comments

       The candidate manages to 
include several details briefly in the 
first two paragraphs. The empty 
adjectival phrase ‘a good use of’ 
is imprecise and detracts from a 
linguistic standpoint. 

       The concept of turn taking is 
exemplified with relevant data. The 
candidate develops commentary 
by introducing the notion of the IRF 
exchange.

       The candidate discusses 
prosodic features. They exemplify 
and use these as justification for 
positioning the child interlocutor 
correctly at the post-telegraphic 
stage of language acquisition.

1

2

3

1
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Example Candidate Response – high, continued Examiner comments

       The candidate cites Halliday’s 
personal function mostly accurately 
although they use the prosody 
(patterns of stress and intonation) 
as justification rather than content 
of utterance.

       The candidate uses more 
prosodic features to exemplify the 
mother’s use of caregiver language. 
An accurate but brief description of 
Bruner’s LASS follows; data from 
the transcription are included.

       Discussion of Bruner 
leads into further conceptual 
reference to Vygotsky’s notions 
of scaffolding and the Zone of 
Proximal Development. There 
are no comments as to whether 
these concepts are seen in the 
transcription and the candidate 
selects no data to evidence 
descriptions.

5

6

5

6
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Example Candidate Response – high, continued Examiner comments

       The candidate discusses more 
of Halliday’s functions of language. 
The previous comment on the 
Personal function may have been 
better placed at this point in the 
analysis.

       There is some confusion in 
terms when applying the reference 
to Piaget. It is possible, though 
unlikely, given the age of the child 
interlocutor that he has reached 
the concrete operational stage. 
However, the data supplied by the 
candidate as justification are not 
wholly plausible.

       The candidate refers to the 
child’s ‘linguistic mistakes’. A more 
precise term would be ‘virtuous 
error’. Use of that term instead 
would have provided an opportunity 
to introduce Chomsky as a relevant 
theorist.

       The conclusion does not refer 
to any analytical findings and 
therefore does not add anything to 
the response overall.

Total mark awarded =
18 out of 25
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8
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8
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How the candidate could improve their answer
•	 The candidate could have improved the response by identifying more characteristic features and then evidencing 

findings by making a greater selection of data from the transcription. Most of those features identified fall under the 
general linguistic umbrella of prosody, but to demonstrate wider knowledge and understanding of child language 
acquisition, grammatical or syntactical features seen in utterances could have been analysed in more depth.

•	 Halliday was referenced twice: once near the beginning of the response and then later, more fully. The response 
could have been improved by reorganising the structure into a more logical sequence of ideas.

•	 There was a lengthy paragraph which merged discussion about Bruner and Vygotsky. An improvement could have 
been made by separating discussion of the two theories: first, the candidate could have selected features from the 
transcription and evidence with relevant data which clearly demonstrated how the mother operated as a Language 
Acquisition Support System (Bruner); a separate section of analysis could then have followed providing details on 
how the mother used scaffolding to bring about a Zone of Proximal Development (Vygotsky).

•	 The candidate missed an opportunity to demonstrate how the child had phonological competence yet there 
remained instances of virtuous error. In this section of the response, there was also discussion of the conditional. A 
deeper analysis here would have improved the response further.

•	 There were some empty phrases – ‘makes a good use of . . .’ and ‘. . . which is very advanced for his age’ – which 
detracted from the linguistic standpoint. The response could have been improved if technical terminology had been 
used more widely throughout.
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Example Candidate Response – middle Examiner comments

       Although the introduction is 
brief and relevant, candidates may 
note that introductions are not 
necessary in analytical essays.

       The candidate identifies the 
stage of acquisition of the child 
interlocutor and provides evidence 
from the text to justify their claim. 
Characteristic features are mostly 
labelled using accurate linguistic 
terminology.

       The candidate names some of 
Halliday’s functions and exemplified, 
although the comment is weak on 
the Instrumental function.

       In this section of the response, 
the candidate begins to identify and 
provide evidence of a number of 
characteristic features.

4 4

2

3

2

3
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Example Candidate Response – middle, continued Examiner comments

       The asterisk indicates 
signposting to the candidate’s 
explanation of Chomsky’s Language 
Acquisition Device. The explanation 
is reasonably clear, but it is not 
clearly tied to the description of 
characteristic features.

       The double asterisks point to 
a further selection of characteristic 
features with accurate labelling and 
relevant evidence.

       The candidate correctly 
positions the child interlocutor in 
Piaget’s preoperational stage using 
egocentricity as justification.

       In this section of the response, 
the candidate explores the mother’s 
use of language. Beginnings of 
an analysis related to motherese 
moves swiftly on to discuss positive 
reinforcement according to Skinner. 
Although there is evidence from the 
text to support ideas, the paragraph 
feels muddled.

7

8

7

8
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Example Candidate Response – middle, continued Examiner comments

       There is a further sense of 
disorganisation as the candidate 
references Bruner, then Vygotsky, 
and then introduces the case of the 
feral child Genie.

       The candidate fully explains 
and evidences the notion of the IRF 
exchange.

9

10

9

10
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Example Candidate Response – middle, continued Examiner comments

       The candidate comments on 
the child’s phonological competence 
and introduces the Berko and 
Brown study with an imprecise 
label. As no ‘errors’ are detected by 
the candidate, the reference is not 
wholly relevant.

Total mark awarded =
15 out of 25

How the candidate could improve their answer
•	 Overall, the response was sustained with a wide range of characteristic features being identified and evidenced, 

but the analysis was disorganised. The response could have been improved with a more careful selection of 
characteristic features demonstrating clear evidence of a linguistic concept or theoretical approach. For example, 
at point 8, there could have been a clear example of motherese tied to an explanation of Bruner’s LASS, then a 
new paragraph could have provided a clear example of positive reinforcement with the candidate’s explanation of 
Skinner’s notions of behaviourism. Similarly, at points 9 and 10, a new and full paragraph could have discussed 
evidence demonstrating how the mother attempted to bring the child into a Zone of Proximal Development using 
scaffolding through an IRF exchange. Thus, the reference to Vygotsky would have been much clearer and more 
meaningful.

•	 The introduction of the feral child Genie was not relevant to the discussion, nor was that to Berko’s Fis 
Phenomenon. The response could have been improved if the candidate were to ensure that all conceptual 
referencing was fully accurate, precisely labelled and relevant.

•	 It was clear that the candidate had knowledge of the functions of language according to Halliday and there was a 
clear selection of examples from the transcription which supported those functions which were identified. However, 
the candidate could have demonstrated fuller understanding by explaining the nature of the individual functions and 
how and why they evidence child language acquisition.

1111
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Example Candidate Response – low Examiner comments

       Although ‘adjacency pair’ is a 
linguistic term, it is not clear here 
whether it is understood accurately 
by the candidate. 

       The candidate misreads the 
gender of the child interlocutor. 
This will have no effect on any 
analytical findings, therefore marks 
are not affected, but it is a sign that 
the candidate does not make a 
thorough reading of the information 
provided on the question paper.

       The candidate correctly 
identifies the stage of language 
acquisition, but the explanation of 
the post-telegraphic stage is very 
long and contains no data selected 
from the transcription to support 
ideas.

2

3

1
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Example Candidate Response – low, continued Examiner comments

       The candidate demonstrates 
knowledge and understanding of 
innatism according to Chomsky 
and Bruner’s Language Acquisition 
Support System, although there 
is some imprecision in using 
descriptors.

       The candidate makes a 
relevant selection of data, but these 
should have appeared earlier in the 
discussion.

       The candidate now introduces 
characteristic features. They 
should have appeared earlier in the 
response in order for analysis of 
data to begin.

       There may have been 
misinterpretation of the child’s use 
of tense. The verbs selected would 
not necessarily have needed to be 
in the past tense, given the context.

       Even if the child had made 
an ‘error’, it would have been 
more accurately described as a 
‘virtuous error’ with the example 
being incorporated into discussion 
concerning Chomsky.

7

7
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4

5

4

5
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Example Candidate Response – low, continued Examiner comments

       The discussion of Skinner is 
mostly relevant and accurate but 
could have been more succinctly 
described. Data could have been 
selected which exemplified positive 
or negative reinforcement.

       The conclusion repeats 
material previously seen and has 
included a final thought which is 
irrelevant to any analytical findings.

Total mark awarded =
8 out of 25

9

10

9

10
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How the candidate could improve their answer
•	 A wider range of features from the transcription could have been selected for analysis, including any of those 

identified according to the transcription key which is provided in the question paper.
•	 Any characteristic features identified could have been exemplified with data from the transcription as a way of 

improving the response.
•	 The response could have been more succinctly written. For example, there was much discussion of the post-

telegraphic stage, and a lengthy explanation of Chomsky and Bruner’s theories. In both of these paragraphs, the 
response could have been improved by relevant selections of data to illustrate points being made.

•	 Although Bruner’s LASS was correctly identified, the response could have been improved with discussion on the 
mother’s role as caretaker and the ways in which she uses child-directed speech, with examples.

•	 This was similar to the way that Skinner’s behaviourism was presented. Although the candidate provided some 
relevant ideas, they could have taken the opportunity to discuss positive and negative reinforcement, which were 
fundamental to the concept of behaviourism.

Common mistakes and guidance for candidates
•	 A frequently seen mistake seen in weaker responses is to cite theoretical examples, often describing them at 

length, but either to omit any examples from the transcription, or to insert examples only sparingly. It is likely that 
this mistake occurs because candidates understand that AO4 is heavily weighted in this question at 15 out of 25 
marks, but it is important not to ignore the other 10 marks which are available, shared equally between AO1 and 
AO5.

•	 A better approach can be taken where characteristic features are identified, exemplified by data from the 
transcription, and then supported by accurate reference to relevant linguistic concepts or theories. Thus, responses 
overall would gain an organisational structure of sequential analytical points. 

•	 Candidates should be reminded that a range of technical terminology, used precisely and accurately, will enhance 
the linguistic standpoint. It is a common mistake to discuss characteristic features in generalised terms, often with 
explanatory discussion rather than in-depth analysis.

•	 Weaker responses are often seen where candidates have selected only features which correspond with the key 
given at the end of the transcription. Although the key is provided for general guidance, it can only offer basic 
information: using only the key as a springboard for analysis may result in a basic response.

•	 Many candidates provide introductions which replicate the introductory information provided above the 
transcription. Introductions are not needed in an analytical response and it is a common mistake to spend time 
writing out these details. Furthermore, at times, lengthy conclusions are provided which merely contain material 
which has already been stated and which therefore constitutes repetition.
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